Lesson 3

Still on Chapter 2

Motion problems
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Recall

If an object is moving with constant velocity v and at time t; it is
at (a, b) then the position of the object at time t is:

» | x(t) =a+v(t—t1), y(t)= b|objectis moving along

horizontal line y = b.

» | x(t) =a, y(t)=0b-+ v(t— ty)]if object is moving along

vertical line x = a.
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Example

Ann and Bob start moving at the same time from the same
location. Ann moves East at 6 feet/sec. Bob moves North at 5
feet /sec.

What is the distance between Ann and Bob 10 sec later ?
When is the distance between Ann and Bob 50 feet ?
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Algebra question

Is Vx2 = x7?
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What if Ann and Bob start at different times from different
locations ?

Bob is standing 10 feet North of Ann, when Ann starts moving
East at 6 feet/sec. 3 seconds later Bob , starts moving North at 5
feet/sec. When is the distance between Ann and Bob 50 feet ?
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Tricky version

Bob is standing 10 feet North of Ann, when Ann starts moving
East at 6 feet/sec. 15 seconds later Bob , starts moving North at 5
feet/sec. When is the distance between Ann and Bob 50 feet ?
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